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(BMF 420) TECHNIQUES FOR BUSINESS DECISION - II

PART - A/ 9wor - »

Answer any THREE questions. 5 marks each :
aiRF)wente Suedd Bardn sudd 3us S vosnidy:

What are the uses of Index Number?
AR 080 eudaleenindes?

Define Association of Attributes. How does it differ from correlation?
rogerid SURY X8 Bowogs Sy, e : o 3BRowey rowenidor Bert PYTINGT?

From the following data, estimate the value of Y. When X = 90 and 120 :

ot 39NS xR o8hod XS 3¢ 90 33) 120 'amarl Y& ﬁécnmg‘uomm S»b:

X Y
ean 1249 135.9
S. D.

dob3d e 135 175

Co-efficient of correlation = 0.72

wBRowoRtTLEE = 0.72

Interpret the value of the year 2010 with the help of suitable method :
Xef TG Me0bBod 20108, Iy Ty Jfedr :

Tar’ 2008 2009 2010 2011 2012 2013

v :
d?.‘;h:;: 3200 3000 ? 2800 2780 2500

[Max. Marks : 80

3x5=15

From the following data, construct the following index number Fisher’s ideal index

qnumber :

Gt YRS Tz08Dow WA ﬁsmﬁoﬁdquv‘ddﬂ Td3ndnt esbmtaeh dord HLR0D

Basic Yeay Current Year

Kilo Rate Kilo Rate
dnd oOd 363 od

Bread 10 3 8 3.25
Meat 20 15 15 20
Tea 2 25 3 23
1
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Answer any TWO questions. 10 marks each : 2x10=20
aiRFH)meude 0B JENdrt eu3d. 3o 10 vosridh :

6. What is correlation? Distinguish between correlation and regression.
ABIOVG 20WTR? BB Bowog ) SovesndhcS SHANded>?

7. Calculate the Karl Pearson’s co-efficient of correlation :
&1 8UNE T308R00 5atFF H0LORTUSU Neiowog rbme‘;iai.]'_ vord) LBoWD ;

Wages :

2 : 100 101 102 102 100 99 97 98 96 95
Cost of leaving :

&ﬁaﬁ%aeﬁﬁ: 98 99 99 97 95 92 95 94 90 91

8. From the following data obtain the two regression equation :
8 89N 308000 H0R) LoBoF IDTTHI), For) HAWD :

Sales :
S0k : 91 97 108 121 67 124 51 73 111 57

Purchases :
Mod.)mq:bd}: 71 75 69 97 70 91 39 61 80 47

9. Draw the Mean and Range chart for the following data and state your conclusion :
30370 33 Degrarod HRT VYV Br ¢80n TIE, H¥ad IS IeSRFITR) I :

Sample No :
S0 Boad, : 1 2 3 4 5 6 7 8 9 10

E;Z; 32.7 34.5 35.2 30.7 346 29.5 31.0 27.8 328 305
.

Range :

Beorad - 22 12 25 16 21 14 24 12 21 26

Given: n=5,A, =0.577 D; =0, and D; =2.115
&m%d: n=5,A;, =0.577 D; =0, 3 D, =2.115
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PART ~ C/2%%r -

Answer any THREE questions. 15 marks each : 3x15=45
QIRZHmuoe Susch JFrdn euddl. 3o 15 vodridd :

Define Index Number and explain the factors and limitations of Index Number.
BAROTIR), 9,79, SR AR5 08T ©08 S5y Ao3riday T2

From the following data obtain two regression equation. Estimate the value of x when
Yy =75 and the value of y when x= 120 :

8 $950d W303B0T S0 LoD 32)eFTM IVe, x FoKy y = 75 Ry y when x = 120

) *1 0-10 { 10-20 | 20-30 | 30-40 | 40-50 | Total
25 | 2 | 6 4 Z - 12
35 | 3 | 12 | 13 7 - 35
5 | - | 8 | 25 | 15 | 4 52
55 | - 3 15 | 10 5 33
65 | - | - 5 6 9 20
75 | - | - 3 7 8 18
Total | 5 | 29 | 65 | 45 | 26 |170

From the following data, calculate price index by using
(a) Laspeyer’s method
(b) Fisher’s Ideal Index Number

{c) Also show how Fisher’s Index Number Statistics time reversal test and factor
reversal test

& $¢h oxoshon W RAR0TNYR) 891t S0 I 3N ebmeTTN vord HBAD :

(a) endeador zfdoa

(b) &IOOSC uEBF RAtR,08 Forie

(¢) 8OFUSD AR08 BTt FF ) U3 Joezd S0enday, Bert BPROFySowdd

30e0n
c 9
ommocieS 2013 2014
Rate Exp. Rate Exp.
. Od Dur WO D
A 12 1680 15 2400
B 15 2250 20 3500
C 10 2500 12 3000
D 18 720 20 1200
E 24 4800 30 6750
F 6 780 10 1500
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13.

14.

From the following data, find out the number of students who obtained more then
62 marks but not more than 75 marks :

B 69NT d3308000 62 Yodun Bu[l vosndod ¢ud 75 wosnidn Joeon dRPerid Foadobr)
HoR) LB :

Marks :
@oBridy : 50-60 60-70 70-80 80-90 90-100

No. of Students :
2

(a) Meaning and objectives of SQC Explain.
T8R4 DIV DB Ul e8SR) 0N

(b) The following information relates te Literate and Unemployment to 1,000 persons.
Find Yule’s co-efficient of association between Literacy and Unemployment.

€ 950 DITTSY, IM,I03 Soxy Od)d.a‘rh 1000 8, ainHer, T svIalechy vo
SB0o0D :

Tlliterate Unemployed 440
8Xm, S0 ad.sd.taﬂen

Literate Employed
DR S[o3 euEaeh 40

‘Nliterate Employed

uaa%dou uu:mden 360

4
https://www.kuvempuonline.com

wod durfuondwaany mmm//:sdny



